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Sub. Code: 1041  

NEB -XII 

2079 (2023)  

Model Question (Set A) 
Accounting II 

   
ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s hgfp“b5 . 
 

Candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks. 

 

 Time: 3 hrs.  Full Marks: 75 
 

Group A 

-clt ;+lIfKt pQ/fTds k|Zgx¿/Very short answer questions): (11×1=11) 

1. lghL sDkgLsf] cy{ pNn]v ug'{xf];\ .  

 State the meaning of private company. 

2. ;+roL k"jf{lwsf/ z]o/sf] cy{ n]Vg'xf];\ .  

 Write the meaning of cumulative preference share. 

3. rfn' ;DklQsf s'g} b'O{ zLif{s ;"lrs[t ug'{xf];\ .  

 Give any two items of current asset. 

4. nfut n]vf ljlwsf] cy{ n]Vg'xf];\ .  

 Write the meaning of Cost Accounting.  

5. lgoGq0fsf] cfwf/df pkl/JoonfO{ juL{s/0f ug'{xf];\ .  

 Classify overhead according to controllability.  

6. cfjlws df}Hbft ljlwsf] cy{ lbg'xf];\ .  

 Give the meaning of periodic inventory system. 

7. ;dob/ Hofnf k|0ffnLsf s'g} b'O{ kmfObfx¿ pNn]v ug'{xf];\ .  

 State any two advantages of time wage system.  

8. n]vf ljlwdf sDKo'6/ k|0ffnLsf s'g} b'O{ j]kmfObfx¿ pNn]v ug'{xf];\ .   

 Mention any two disadvantages of computer system in accounting. 

9. ¿= !%))) cflh{t sldzg, t/ k|fKt gePsf]nfO{ ;dfof]hg k|ljli6 tof/ ug'{xf];\ .   

 Prepare adjusting entry of commission earned but not received Rs. 15,000. 

10. lgDg hfgsf/Lx? lbOPsf 5g\ M (Following information are given) 

 v'b gfkmf (Net profit)  : Rs. 18,000 

 u}/ ;~rfng vr{ (Non-operating expenses)    Rs. 6,000 

 rfn' bfloTjdf sld (Decrease in current liabilities)  Rs. 5,000 

tof/ ug'{xf];\  (Required) : 

ck|ToIf ljlwaf6 ;~rfng lj|mofsnfkaf6 gub k|jfx 

Cash from operating activities under indirect method. 
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11. olb k|lt cfb]z nfut ¿ #)), k|lt OsfO{ ;+ef/ nfut ¿= @ / jflif{s vkt #),))) 

OsfO{ 5 eg], ldtJooL cfb]z kl/df0f kQf nufpg'xf];\ .  

 If ordering cost per order Rs. 300, carrying cost per unit is Rs. 2 and annual 

requirements are 30,000 units, find out economic order quantity. 

Group B 

-;+lIfKt pQ/fTds k|Zgx¿/Short Answer Questions):       (8×5=40) 

12. Pp6f sDkgLn] ¿= !)) b/sf !) k|ltzt k|Jofhdf #),))) lsQf z]o/sf] nflu cfj]bg 

cfJxfg u¥of] h;sf] e'QmfgL lgDgfg';f/ x'g]5 . A Company Ltd. invited application 

for 30,000 shares of Rs. 100 each at 10% premium, payable as under: 

 cfj]bgdf (On application)  Rs. 30  

 afF8kmfF8df  (On allotment)  Rs. 40  

 k|yd tyf clGtd ls:tfdf (On first and final call) Rs. 40  

 $@,))) xhf/ lsQf z]o/sf] nflu cfj]bg k|fKt eof] . ;~rfns ;ldltn] @%,))) 

cfj]bgsnfO{ k'/}, !),))) cfj]bsnfO{ %) k|ltzt / &,))) cfj]bg cl:js[t u¥of] . 

cfj]bg ;fy k|fKt clws /sd afF8kmfF8sf] cf+lzs e'QmfgLsf] nflu k|of]u ug]{ lg0f{o  

ul/of] . k|yd tyf clGtd ls:tfsf] /sd @)) z]o/df afx]s ;Dk"0f{ /sd r'Qmf eof] .  

Applications were received for 42,000 shares. The board of directors decided to 

allot 25,000 applicants in full, 10,000 applicants 50% and 7,000 applicants were 

rejected. It was decided to utilize excess application money in part payment of 

allotment. All money were duly received except a shareholder holding 200 shares 

failed to pay first and final call money.  

tof/ ug'{xf];\ (Required): uf]Zjf/f clen]v (Entries for): 

i) cfj]bg  (Share application) 

ii) afF8kmfF8 (Share allotment) 

iii) k|yd tyf clGtd ls:tf (Share first and final call.)                   [1.5+2+1.5=5]  

13.a.  Pp6f sDkgLn] ¿= !!,)),))) d"Nodf lgDg ;DklQx¿ v/Lb u¥of] . A company 

purchased the following assets at an agreed price of Rs. 1,100,000:  

KnfG6  (Plant)   Rs. 520,000  

hUuf tyf ejg (Land and Building)  Rs. 730,000  

 pQm v/Lb d"No @) k|ltzt 5'6df ¿= !)) b/sf z]o/ lgisfzg u/L e'QmfgL ul/of] . 

The company paid the agreed price by issuing shares of Rs. 100 each at 20% 

discount.  

 tof/ ug'{xf];\ (Required): ;DklQ v/Lb / z]o/ lgisfzgsf] clen]v (Entries for 

purchase of assets and issue of share) [1+1=2] [a] 

13. b.  Pp6f ln= sDkgLn] ¿= !,))) b/sf % k|ltzt k|Jofhdf % jif{kl5 !) k|ltzt 

k|Jofhdf lkmtf{ ug]{ u/L *,))), !) % C0fkq lgisfzg u¥of] .  (A Co. Ltd. issued 

8,000, 10% Debentures of Rs. 1,000 each at a premium of 5% redeemable at a 

premium of 10% after 5 years.)  

tof/ ug'{xf];\ (Required):  

     C0fkq lgisfzg tyf e'QmfgLsf] uf]Zjf/f clen]v  

  Journal entries for issue and redemption of debentures                 [1.5+1.5=3]  
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14. Pp6f sDkgLsf] utjif{sf] #! cfiff9sf] lgDghfgsf/Lx¿ lbOPsf] 5 M Following 

information was taken from a company as on 31st Ashad, last year is given as: 

Particulars Amount (Rs.) 

cu|LdjLdf (Prepaid  insurance) 8,000 

s"nd'gfkmf (Gross profit) 420,000 

gfkmf gf]S;fg afF8kmfF8 vftf (P&L appropriation account) 150,000 

tna (Salaries)  42,000 

aflx/L 9'jfgL (Carriage outwards) 5,000 

ljqmL vr{ (Selling expense) 18,000 

k|zf;lgs vr{ (Administrative expenses)  25,000 

Jofh vr{ (Interest expenses) 12,000 

ef8f vr{ (Rent expenses) 36,000 

yk hfgsf/Lx¿ (Additional Information): 

a. k|:tfljt nfef+z (Purposed dividend) Rs 90,000 

b. clu|djLdf vr{ n]lvof] (Prepaid insurance was expired) Rs. 6,000. 

tof/ ug'{xf];\ (Required): gfkmf–gf]S;fg vftf / gfkmf gf]S;fg afF8kmfF8 vftf  

 (Profit and Loss account, and Profit and Loss Appropriation account)  [3+2=5]  

15. Pp6f sDkgLsf] ut jif{sf] r}q #! sf] ;Gt'ng k/LIf0f lgDgfg';f/ lbOPsf] 5M (The Trial 

Balance of a Co. Ltd. as on 31st Chaitra last year is given below):  

Particulars Debit Rs. Particulars Credit Rs. 

sfof{no cf}hf/ (Office equipment)  

ljqmLsf] nfut (Cost of goods sold) 

gub (Cash) 

cf;fdLx¿ (Debtors)  

k|zf;lgs vr{ (Administrative expenses) 

tna  (Salaries) 

ahf/Ls/0f vr{ (Marketing expense) 

180,000 

121,000 

32,000 

25,000 

12,000 

24,000 

18,000 

k"FhL (Capital) 

;fx'x¿ (Creditors) 

ljqmL (Sales) 

clu|dcfo (Unearned income) 

152,000 

25,000 

230,000 

5,000 

Total 432,000 Total 432,000 

yk hfgsf/LAdditional information: 

i. ltg{ afFsL tna (Salary payable) Rs.6,000  

ii. clu|d cfo dWo cfDbfgL afFlwof]  (Unearned income was earned) Rs. 4,000 

tof/ ug'{xf];\ (Required): sfo{ ljj/0f (Worksheet)                                            [5]   

16. nfut n]vf / ljlQo n]vflar km/s 5'6ofpg'xf];\   

 Differentiate between cost accounting and financial accounting.                 [5]  

17. a. pko'Qmpbfx/0f ;lxt ;fdu|Lsf] juL{s/0fsf] cy{ pNn]v ug'{xf];\ .  

     State the meaning of material classification with suitable examples.       [2]  

 b.  d] dlxgfsf] e08f/ ;DaGwL sf/f]af/x¿ lgDgfg';f/ 5g\ M Following are the store 

transactions for the month of May:  

May 1:  z'¿ df}Hbft (Beginning inventory) 150 units @ Rs. 20  

May 2:  v/Lb (Purchased) 400 units @ Rs. 25  

May 20:  v/Lb (Purchased) 650 units @ Rs 30 
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d] dlxgfsf] ljqmL (Sales during May) 850 units  

 

tof/ ug'{xf];\ (Required): 

 cfjlws df}Hbft k|0ffnL cGtu{t k|yd bflvnf k|yd lgisfzg ljlw cGtu{t clGtd 

df}Hbftsf] nfut / ljqmLsf] nfut .  

 Cost of ending inventory and cost of goods sold using FIFO method under 

periodic inventory system.                                                                             [3] 

18. a.  *) PsfO{ pTkfbg ug{ @ 306f ;do lbOsf] 5 . Pp6f sfdbf/n] Ps dlxgfdf 

$)) PsfO{ pTkfbg ub{5 . k|lt 306f Hofnf b/ ¿= *)) /x]sf] 5 .  

 The time allowed to produce 80 units of output is 2 hours. A worker produced 

 400 units during the month. Wages rate per hour is Rs. 800. 

kQfnufpg'xf];\ (Required): pQm sfdbf/sf] Hofnf (Wages of a worker)                   [2]  

 b. ljlQo n]vf / nfut n]vflar t'ngf ubf{ lgDg tYox¿ kQf nfUof] M  

  On reconciliation of Financial and Cost Accounting, following facts were 

disclosed:  

i.  nfut n]vfn] b]vfPsf] gfkmf (Profit shown by cost account) Rs. 420,000. 

ii.  nfut n]vfdf sf/vfgf pkl/Joo ¿= @%,))) Go"gclen]v ePsf] 5 .  

 Works overhead under recorded in cost account Rs. 25,000. 

iii. sfof{no pkl/Joo ljlQo n]vfdf ¿= !%,))) Go"gclen]v ePsf] 5 .  

 Office overhead under recovered in financial account Rs. 15,000. 

iv. :yL/ ;DklQsf] ljqmLdf ¿= %,))) d'gfkmfljlQo n]vfdf b]vfPsf] 5 .  

 A profit on sale of fixed assets was shown in financial account Rs. 5,000. 

tof/ kfg'{xf];\ (Required): nfutldnfgljj/0f (Cost reconciliation statement)          [3]  

19. n]vf ;km\6j]o/sf ljz]iftfx¿ j0f{g ug'{xf];\ .  

 (Explain the features of accounting software.)        [5] 
      

Group C  

 lj:t[t pQ/fTds k|Zgx¿(Long answer questions):               [3×8=24] 

20. ut jif{sf] r}q #! ut] P sDkgL ln= sf] ;Gt'ng k/LIf0f lgDgfg';f/ lbOPsf] 5 M  

 The Trial Balance of a company Ltd. as on 31st Chaitra last year is given below:  

ljj/0f Particulars Debit Rs. Particulars Credit Rs. 

z'¿ df}Hbft (Opening inventory)  

ljqmL sldzg (Sales commission) 

v/Lb (Purchases)  

d;nGb (Stationery)  

ef8f (Rent) 

tna (Salary)  

cGtl/d nfef+z (Interim Dividend)  

;+oGq (Equipment) 

clu|djLdf (Prepaid insurance)  

gub (Cash)  

h}ljs ;DklQ (Biologic assets) 

!) % nufgL (10% investment)  

60,000 

40,000 

350,000 

9,000 

20,000 

60,000 

8,000 

100,000 

10,000 

17,000 

60,000 

150,000 

ljqmL (Sales) 

;fx'x¿ (Creditors)  

cGo ;]jfcfo (Other service revenue) 

!) % C0fkq (10% Debentures)  

z]o/ k"FhL (Share capital) 

nufgLdf Jofh (Interest on investments) 

z]ifcfo (Retained earnings) 

 

520,000 

30,000 

40,000 

100,000 

500,000 

15,000 

40,000 
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k|zf;lgs vr{ (Advertisement expense) 

hUuf tyf ejg (Land and building) 

k|fKo vftfx¿ (Account receivables) 

Jofh vr{ (Interest expenses) 

10,000 

300,000 

41,000 

10,000 

Total 1245,000 Total 1245,000 

yk hfgsf/L (Additional Information): 

i. clGtd df}Hbft (Closing inventory) Rs. 120,000. 

ii. cu|Ld jLdf vr{ n]lvof] (Prepaid insurance was expired to) Rs. 8,000. 

iii. ;+oGqdf !) % / ejgdf %% n] x|f;sl§ (Depreciation charged on equipment 

by 10% and on building by 5%.) 

iv. cfos/sf] nflu Joj:yf (Provision for income tax)  @ 25%. 

tof/ ug'{xf];\ (Required): .                                                                                  [4+4=8] 

a.  NFRS df cfwfl/t gfkmfjf gf]S;fg ljj/0f Profit or Loss statement based on 

NFRS. 

b.  NFRS df cfwfl/t ljlQo ljj/0f Statement of financial position based on 

NFRS  

cyjf (Or) 

a.  jx'r/0f cfo ljj/0f (Multi step income statement) 

b.  ljQLo cj:yfsf] ljj/0f (Statement of financial position)                                                                                     

 

21. Pp6f sDkgLsf] #! l8;]Da/sf] lgDgfg';f/ jf;nft lbOPsf] 5 M  

 The Balance Sheet of a company on 31st December were given below:  
bfloTj (Liabilities) Year I (Rs.) Year II 

(Rs.) 

;DklQ (Assets) Year I (Rs.) Year II 

(Rs.) 

z]o/ k"FhL (Share capital)   

z]if cfo (Retained earnings)  
;fx'x¿ (Creditors)  

ltg'{kg]{ vr{ (Expense payable)  

300,000 

20,000 
20,000 

25,000 

300,000 

60,000 
30,000 

17,500 

l:y/ ;DklQ (Fixed Assets)  

df}Hbft (Inventory) 
cf;fdLx¿ (Debtors)  

a}+s df}Hbft (Bank balance)  

250,000 

10,000 
40,000 

65,000 

325,000 

35,000 
12,500 

35,000 

Total 365,000 407,500 Total 365,000 407,500 

yk hfgsf/L (Additional information): 

i. ljqmL (Sales) Rs. 300,000   

ii. ljqmLsf] nfut (Cost of goods sold)  Rs. 180,000 

iii. :yL/ ;DklQsf] ljqmL (Sales of fixed assets)  Rs. 25,000   

iv. :yL/ ;DklQsf] v/Lb (Purchase of fixed assets) Rs. 110,000 

v. nfef+z e'QmfgL (Dividend paid)  Rs. 30,000    

vi. ;+rfng vr{ (Operating expense)  Rs. 40,000 

tof/ kfg'{xf];\ (Required):  

    k|ToIf ljlw k|of]u u/L gub k|jfx ljj/0f 

      Cash flow statement using direct method                                                  [4+1+2+1]  
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22. z¿ tyf clGtd df}Hbft lgDgfg';f/ 5 M  

 The opening and closing balance of inventories are as below: 

  Opening Closing 

tof/L a:t' (Finished goods) Rs. 40,000 Rs. 45,000 

cy{ tof/L j:t' (Work-in-progress) Rs. 25,000 Rs. 20,000 

sRrf kbfy{ (Raw materials) Rs. 40,000 Rs. 50,000 

sDkgLn] pknAw u/fPsf Ps dlxgfsf cGo hfgsf/Lx¿ lgDgfg';f/ 5g\ M 

 The other information provided by the company for the month ended was as follows: 

sRr kbfy{ v/Lb (Purchase of raw material) Rs. 350,000  

k|ToIf Hofnf (Direct labor cost) ....... Rs. 420,000 

gfkmf (Profit ................................... 25% on sales  

sf/vfgf pkl/Joo (Factory overhead) 50% of direct labor cost 

ljqmo vr{ (Selling expenses) 12% of factory cost  

k|zf;lgs pkl/Joo (Administration overhead) 15% of factory cost 

tof/ kfg'{xf];\ (Required):  nfut ljj/0f (Cost sheet)                                          [8]  

-0- 


